SHELVING

AND

STAGING
ATLAS INSTRUCTIONS




Atlas Shelving Instructions




Atlas Shelving Instructions

02-2211




Atlas Shelving Instructions




Atlas Shelving Instructions

: ——
L [ooor901 ] ~ )
«— X1
® ® o ®
O O 906 0 O

02-2211




Atlas Staging Instructions

1)




Atlas Staging Instructions

X
.
-V
oot
ot
..........
_____
o

o <
““ =
------------
ot
o
. .
.....
ot N

o L]
...........

o
.
. -
.
o -
_____
. .
.
.
.
.
.

02-2210 |




1

ATLAS

Atlas Staging Instructions

y 02-2210

@ 900/901 | 902

900/901 900/901
90° 90°

90°

900

/901

902

902




Atlas Staging Instructions

/ 0
L |o00/901 L
g «— X1
|
o [w] o [ a}
o D 2 o [ o O

902

02-2210




1

A Fitting around an A-frame

Shelving
_—

\ /4] —




Fitting around a partition

ATLAS




Parts List

ATLAS

Atlas 4' x 25" Staging (code: HEATL254)

Part Name Part No. Drawing No. Length Qty
Slat - 1240 900 201 1240 4
Staging Arm 902 202 650 3
Large Diagonal Support 02-2210 - 812 2
Large Bracket 904 020 - 4
Small Bracket 905 203 - 2
M6 Bolt - - 10 22
M6 Nut - - - 30
M6 Crop-head Bolt - - 10 8
Atlas 6'x25" Staging (Code: HEATL256)
Part Name Part No. Drawing No. Length Qty
Slat - 1860 901 201 1860 4
Staging Arm 902 202 650 4
Large Diagonal Support 02-2210 - 812 3
Large Bracket 904 020 - 4
Small Bracket 905 203 - 3
M6 Bolt - - 10 30
M6 Nut - - - 40
M6 Crop-head Bolt - - 10 10
Atlas 4' x 12" Shelf (Code: HEATL124)
Part Name Part No. Drawing No. Length Qty
Slat - 1240 900 201 1240 2
Shelf Arm 906 202 325 3
Small Diagonal Support 02-2211 - 452 3
Large Bracket 904 020 - 2
Small Bracket 905 203 - 2
M6 Bolt - - 10 18
M6 Nut - - - 26
M6 Crop-head Bolt - - 10 8
Atlas 6’ x 12" Shelf (Code: HEATL126)
Part Name | Part No. | Drawing No. | Length Qty
Slat - 1860 901 201 1860 2
Shelf Arm 906 202 325 4
Small Diagonal Support 02-2211 - 452 4
Large Bracket 904 020 - 2
Small Bracket 905 203 - 3
M6 Bolt - - 10 24
M6 Nut - - - 34
M6 Crop-head Bolt - - 10 10




